Bryan Berns

Physics 244

Homework 3
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b.   Nothing.  Those terms cancelled out.

c.  
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Near Infrared
3-27)
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.  (560 nm light does not have enough energy).
Note: All quantities use standard SI units unless specified otherwise.  E4 and E5 are done assuming�we are using monatomic Argon gas. Also, I use the classical mean free path and not the ‘refined’ version that involves a multiple factor of (2)-1/2








_1094161011.unknown

_1094204360.unknown

_1094289490.unknown

_1094289659.unknown

_1094272027.unknown

_1094171064.unknown

_1094148592.unknown

_1094151311.unknown

_1094151323.unknown

_1094150967.unknown

_1094146854.unknown

